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1.
2

1

| 2 1| .....x dx


 

(a)
9

4
(b)

5

2
(c)

13

2
(d)

9

2

2.

1

2

1

2

1
cos log log 2

1

x
x dx k

x


     then ....k 

(a) 0 (b) 1 (c) 2 (d) None

3. Area of region bounded by | | 2x  , X-axis and 1y  is .....

(a) 2 (b) 3 (c) 4 (d) 5

4. Area of region bounded 2 1y x  X – axis and line 8y  is ......

(a)
26

3
(b)

52

3
(c)

104

3
(d)

78

3

5. The equation of curve whose slope of tangent is
x

y
 and passing through (3, -4) is …….

(a) 2 2 5x y  (b) 2 2 50x y  (c) 2 2 25x y  (d) None

6. Equation of curve not passing through origin whose slope of tangent is
x

y
represents …….

(a) Circle (b) rectangular hyperbola (c) ellipse (d) line

___________________________________________________________________________________

(Space for Rough Work)



[2]

7.

1 1

2 2

1 1

3 3

( , )
x y

f x y

x y





represents homogenous function of degree   …….

(a) 2 (b) 3 (c)
1

3
(d)

1

6

8. ( sin ), (1 cos )x a y a      at
2


  has slope of normal …….

(a) 1 (b) 1 (c) 2 (d) None

9. The height of tower is measured from distance 200 meter and the angle of elevation was measured

030 but actually it was 030 12 ' then the error of …… meter occurs in measure of height of tower

(a)
8

81


(b)

8

27


(c)

16

27


(d)

4

27



10. The length of diagonal of square is R and area is A then
dR

dA
= …………

(a) R (b)
1

R
(c) A (d) None

11. If 2 2xy e x  then the length of normal at 0x  from origin  is …….

(a)
2

5
(b)

4

5
(c)

1

5
(d)

3

5

12. If

2

2 3

sin cos

( ) 2 0 1

x x x

f x

a a a

  then '(0) ......f  (where a = constant)

(a) 0 (b) 2a a (c) 3a (d) None
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13. If

4

2

cos

( ) cos 3 sec

cot 7

xx e x

f x ecx x

x x

 then
2

2

( ) .....f x dx







(a) 34 (b) 1
2


 (c) 5e (d) 0

14.
sin cos

cos sin
P

 
 

 
   

then 1 .......P 

(a) TP (b) P (c) TP (d) P

15. If
1

, 1, 2,3......
1 1r

r r
A r

r

 
   

then 1 2 101| | | | ...... | | .....A A A   

(a) 101 (b) 2(101) (c) 100 (d) 2(100)

16. If
3 1

9 3
A
 
    

then 2 3I+2A+3A +4A +..... = .....

(a)
9 1

9 0

 
  

(b)
4 1

9 1

 
   

(c)
7 2

18 5

 
   

(d)
7 2

5 18

 
   

17. 1 1 1sin cos tana x x x b      then ......, ......a b 

(a) 0,  (b)
3

,
4 4

 
(c)

3
,

4 4

 
(d) ,0
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18.  1sin sin 4 = ……..

(a) 4 (b) 4 2  (c) 4 (d) Does not exist

19. If 1 1sin cos x < x then …..

(a)
1

1
2

  x (b) 1 0  x (c)
1

1
2

  x (d)
3

1
2

  x

20.     : N N N N,  m,  n n,  m   f f ...............

(A) one-one and onto (B) many-one and onto

(C) one-one and into (D) many-one and into

21. Bionary operation * defined as A * B A B  on  P X where X   then identity element of * is

..........

(A) X (B)  (C)  P X (D) does not exist

22. 4 letters are put in  4 covers randomly the probability that all 4 does not to  right covers is ….

(a)
3

4
(b)

1

4
(c)

1

24
(d)

23

24
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23. Three vertices of regular hexagon are randomly selected to from triangle probability that the

triangle formed is equilateral is ……

(a)
1

2
(b)

5

6
(c)

1

10
(d)

1

20

24. The area of the parallelogram whose diagonals are ˆĵ k and ˆî k is …..

(a)
3

2
(b)

3

2
(c) 3 (d) 3

25. ...... is meaningless.

(a) ( )a b c  (b) ( )a b c (c) ( )a b c  (d) ( )a b c 

26. Perpendicular distance of (1,1,1) 3r   from point (1, 2,3) is …..

(a) 3 (b) 3 (c) 9 (d) 2

27. Perpendicular distance between the parallel planes 2 2 1 0x y z    and 2 2 4 0x y z    is ...

(a) 2 (b) 1 (c) 3 (d) 4

28. If direction cosines of the normal of plane are ,
4 4

 
and

2


and its perpendicular distance from

origin is 2 then what will be the equation of plane ?

(a) 2
2

z
x y   (b) 2 2x y z   (c) 2x y  (d) 2 2 2x y z  
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29. Let x and y be optimal solution of an L.P. problem then

(a) (1 ) ,z x y R      is also an optimal solution

(b) (1 ) , 0 1z x y       gives an optimal solution

(c) (1 ) , 0 1z x y       gives an optimal solution

(d) (1 ) ,z x y R      gives an optimal solution

30. The optimal value of the objective function is attained at the points

(a) given by intersection of lines representing inequations with axes only

(b) given by intersection of lines representing inequations with x-axis only

(c) given by corner points of the feasible region

(d) at the origin

31.

5
-1

1
5

- 1

1

..... ( )

i

i

i

i

x
d

x R
dx x







 
     
 
  





(a) 32 (b) 16 (c) 32 (d) 16

32. If siny x then ny =......

(a) sin
2

n
x

  
 

(b)  sin n x  (c) cos
2

n
x

  
 

(d)  cos n x 
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33. If
2 3

1 1 1
1 .....y

x x x
      | | 1x  then .....

dy

dx


(a)
2

2

x

y
(b) 2 2x y (c)

2

2x

y
(d)

2

2x

y

34. If ( ) | 2 | | 1 |f x x x x     , then '( 10)f  .....

(a) 3 (b) 2 (c) 1 (d) 0

35.
11(1 ) .....x xx x e dx
   

(a)
1

( 1) x xx e c
  (b)

1

( 1) x xx e c
  (c)

1x xxe c
  (d)

1x xxe c
 

36.
1 tan

dx

x .....

(a)
1 1

log | cos sin |
2 2

x x C   (b)
1

log | cos sin |
2 2

x
x x C  

(c)
1 1

log | cos sin |
2 2

x x C   (d)
1

log | cos sin |
2 2

x
x x C  

37. 7( 1)( 2) ( 3)x x x dx   .....

(a)
10 8( 2) ( 2)

10 8

x x
C

 
  (b)

2 8 2( 1) ( 2) ( 3)

2 8 2

x x x
C

  
  

(c)
10( 2)

10

x
C


 (d)

2 8 2( 1) ( 2) ( 3)

2 8 2

x x x
C

  
  
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38. ....
3 1

( 1) ( 3)2 2

dx c

x x

 
  

(a) 3
1

x
x
  (b)

1 1

2 3

x

x





(c)

1 3

2 1

x

x




(d)
1 3

2 1

x

x






39.

1 1
2 2

2
x xdx k c

x
   then k = …….

(a)
1

log 2
 (b) log 2 (c) 1 (d)

1

2

40.
2

2

5 7

( 3)
x x x

e dx
x

  
  



(a)
1

2
x x

e c
x

    
(b)

1

3
x x

e c
x

    
(c)

1

3
x x

e c
x

    
(d)

2

3
x x

e c
x

    
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